1 BFEGH
2 RBEHH

3 BEESFEHR

1,372
1,178
42[H]

5 ENEREEORR

(ERL30F8~9A %)
18 4k &6 9 5 R 1% R
FERI0E 9HA0HIRE
[#7#5 4354% B et  RAKE 1574 A 174
ERRE R 1 ]
[#73R 38244 EHT 6550 | RHEE 1214 BRA 2044

A RBEERTE o ]

4 1R 2RHEDHERRUVEER
D 1R-2RHFEDFER

FZY EXE1 EXE2 | ENE1 ENE2 ENEIS ENE4I ENES| &F
1 R ¥ E 50 169 118 275 152 99 163 132 1,158
2 R E 8 147 101 295 166 134 159 148 1,158
BAEZERE 0 3 1 4 4 3 2 3 20
REE 8 150 102 299 170 137 161 151 1,178
B Akt 0.7 127 8.7 25.4 14.4 11.6 13.7 12.8 100.0
2 R ¥ FE
FEZL  EXE1 | EXE2 | ENE1 | BENE2 | ENE3 | ENE4 | ENES | A
) 7 31 1 11 0 0 0 0 50
EXE 1 115 16 35 2 0 0 0 169
, |EXR2 0 1 79 37 1 0 0 0 118
R ENiE 0 0 5 210 55 5 0 0 275
] ENiE2 0 0 0 2 108 40 2 0 152
- |ENES 0 0 0 0 0 85 14 0 99
SETN 7 0 0 0 0 0 4 134 25 163
ENES 0 0 0 0 0 0 9 123 132
& it 8 147 101 295 166 134 159 148 1,158
QEEXE
BE-HEHK TEHEH P S
1,158 297 25.6 %
& -4 -3 -2 -1 +0 +1 +2 +3 +4
win 45‘/’7}11 35‘{’7 25‘{’7 15‘{’7 TEAL 15‘{’7 25‘{’] 35‘{’] 45‘/’]}/‘,{J:
BKhp | BKhR | 8Khd | 8Khd B<Kup | BKwar | mKimar | mKima
0 0 0 22 861 218 44 13 0

5 ENE(EXRE)ZPEEH (Fr30F9A30BBREEASR)

EXE1 | BEXE2 gavwzas BENE1 BENE2 ENEI ENEL | ENES E
F15HREE 1,148 871 0 1,888 1,287 1,029 1,093 945 8,261
657% LA 755% i 123 94 0 174 138 81 86 90 786
I5EUE 1,025 171 0 1,714 1,149 948 1,007 855 1475
F25HMREE 11 26 0 30 41 10 22 34 174
&t 1,159 897 0 1,918 1,328 1,039 1,115 979 8,435
HRLE 13.7 10.6 0.0 22.7 15.7 12.3 13.2 11.6 100.0




5 = 4 #

(ERKSOEERE)

BREORKR

B E T ERKR

T304 9A30HIRE

1 EEEHH 3,675 [#3R 1,29044% BF 18788 RXHNEE 45344 LA 5344
ARG ERE 14 ]
2 BEHH 345044 [#73R 1,259 BE 172688 REHOZEE 4114 LA 5444
ERBREERE o ]
3 BEERMEHR 128
4 1R-2RHNEDHEERVEER
D 1R-2RHEDFER
JEEZY | BEXE1 | BEXE2 | ENE1 | BENE2 | ENES | BENE4 | ENES =1
1T R ¥ = 145 510 340 723 436 313 520 409 3,396
2 R ¥ F 36 420 296 797 500 391 496 460 3,396
BAEZRTE 0 7 7 12 9 8 6 5 54
2 E & &t 36 427 303 809 509 399 502 465 3,450
B R I 1.0 12.4 8.8 23.4 14.8 11.6 14.6 135 100.0
2 R ¥ FE
JEEZY | BEXE1 | BEXE2 | ENE1 | BENE2 | ENES | BENE4 | ENES =1
JEELY 33 83 4 25 0 0 0 0 145
EXE1 3 333 47 123 4 0 0 0 510
; [BEXE2 0 4 220 108 8 0 0 0 340
s |ETE 0 0 25 538 145 14 1 0 723
| EMiE2 0 0 0 3 337 92 4 0 436
W |ENEs 0 0 0 0 5 268 40 0 313
T |=nma 0 0 0 0 1 17 417 85 520
EES5 0 0 0 0 0 0 34 375 409
& &t 36 420 296 797 500 391 496 460 3,396
QEERE
EE-HITHE ETEHEH TEE
3,396 875 25.8 %
- -4 -3 -2 —1 +0 +1 +2 +3 +4
win 45‘/’7}11 35‘{’7 25‘{’7 15‘{’7 &‘“Eﬁb 15‘{’7 25‘{’7 35‘{’7 45‘/’7}11
BB BB BB BB EXC ) EXC ) EXC ) EX¢)
0 0 1 91 2,521 600 153 30 0
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